MD SPORTS. AC220V15001

Walmart USA.com

Assembly Instructions
Instrucciones De Ensamblaje

CAUTION - ELECTRICALLY OPERATED PRODUCT
NOT RECOMMENDED FOR CHILDREN UNDER 8 YEARS OF AGE.

AS WITH ALL ELECTRICAL PRODUCTS, PRECAUTIONS SHOULD BE OBSERVED
DURING HANDLING AND USE TO PREVENT ELECTRIC SHOCK.

INPUT: 100-240V 50/60Hz 0.15A OUTPUT: 5V DC 0.55A

Please mention model # AC220Y19001_V2

@877-472-4296 www.medalsports.com



English

Espanol

LIMITED 90 DAYS WARRANTY

This product is covered by a limited warranty that is
effective for 90 days from the date of purchase. If, during
the limited warranty period, a part is found to be
defective or breaks, we will offer replacement parts at
no cost to you, the customer. The only exceptions to the
warranty include mainframes, table tops, playing
surfaces, batteries or tools.

The above warranty will not apply in cases of damages
due to improper usage, alteration, misuse, abuse,
accidental damage or neglect.

This Limited Warranty gives you specific legal rights and
you may also have other rights vary from one State
(province) to another.

A PURCHASE RECEIPT (or other proof of purchase) will
be required before any warranty service is initiated. For
all requests for warranty service, please feel free to
contact our Consumer Service Department.

Please be aware of your product’s Limited Warranty for
the return/refund policy from the store, We, at Medal
Sports, cannot handle the product which is out of
product’s limited warranty since we only provide
available parts. Thank you!

PLEASE CONTACT US BEFORE RETURNING THE
PRODUCT TO THE STORE!

WE ARE READY

TO HELP

GARANTIA LIMITA DE 90 DIAS

Este producto esta cubierto por una garantia efectiva
de 90 dias a partir de la fecha de su compra. Durante el
periddo limite de la garantia, si una parte defectuosa o
guebrada es encontrada, nosotros ofreceremos una
reparacion o un reemplazo de la partes sin ningun costo
para ud, nuestro cliente. Las Unicas excepciones de la
garantia incluyen unidad principals, tableros de mesa,
superficies, pilas o herramientas.

La susodicha garantia no se aplicard en los casos de
danos y perjuicios debido al uso impropio, la alteracion,
el mal uso, el abuso, el dano accidental o la negligencia.

Esta garantia limitada le da a usted derechos legales
especificos, usted también puede tener otros derechos
gue varian de un estado (provincia) a otro.

EL RECIBO DE LA COMPRA (U otra prueba de compra)
seria requerida antes que cualquier servicio de garantia
fuera iniciada. Para todo pedido por servicio de
garantia, por favor siéntase libre de ponerse en contacto
con nuestro Departamento de Servicio de Consumidor.

Por favor tenga atencidén sobre el Limite de Garantia de
su producto de la politica de vuelta/reembolsa desde la
tienda, Nosotros, Medal Sports, no podemos manejar el
producto que estd fuera del limite de garantia ya que
proporcionamos solamente partes disponibles. {Gracias!

iPOR FAVOR PONGASE EN CONTACTO CON
NOSOTROS ANTES DE DEVOLVER EL PRODUCTO A LA
TIENDA!

ESTAMOS LISTOS
PARA AYUDAR

DO NOT RETURN TO STORE

NO DEVOLVERLO A LA TIENDA

Please Contact | Por favor Contacto

MD SPORTS

Customer Service
Toll Free

Servicio al Cliente
Llamados gratuitos

877-472-4296

Mon.-Fri.,
9:00 a.m. to 5:00 p.m. EST

For additional resources and
Frequently Asked Questions,
please visit us at

Lunes a Viernes,
9:00 am. a 5:00 p.m. ET

Por mayor informacion y
preguntas frecuentes, favor
visitarnos en

www.medalsports.com

AC220Y19001

(Continued on the next page.)

(Continuie en la siguiente pagina.) www.medalsports.com




English

TOOLS REQUIRED

Espanol

HERRAMIENTAS NECESARIAS

Phillips Screwdriver - Not Included Destornillador Phillips - No incluido
Standard (Flat Head - Not Included Destornillador de Cabeza - No incluido
Screwdriver) Plana

Wrench - Included > Llave Inglesa - Incluido
Allen Key - Included Llave Allen - Incluido

Q’RECOMMENDED

Electric Screwdrivers may be helpful
during assembly; however, please set a low
torque and use extreme caution.

Power Tools: Set to Low Torque

/ Herramientas eléctricas:

@ IMPORTANT NOTICE

1.

2.

This product is intended for INDOOR use only.
Please do not sit, climb or lean on the product.

Please do not drag the product when moving it in
order to avoid damaging the legs.

Please only use spray furniture polish to clean the
exterior surfaces of the product.

Establecer bajo par de torsion

High Torque Over Tightened
/ Alto par mas estrictas

RECOMENDADO Q

Los destornilladores eléctricos pueden ser
de gran ayuda durante el ensamblado; sin
embargo, por favor ajuste el par de giro
bajo y sea extremadamente precavido.

AVISO IMPORTANTE @

Este producto esta destinado para el uso INTERIOR

solamente.

. Por favor no sientes, subas o inclines el producto.

. Por favor no arrastres el producto cuando esta
moviendo para evitar el dafo sobre las piernas.

4. Por favor use solamente spray para muebles para

limpiar la superficie exterior del producto.

5. This is not a children's toy, adult supervision is 5. Este no es un juguete para nifnos, se requieren la
required for children playing this game. supervision adulta para nifios cuando esté jugando al
juego.

&

No children in assembly Keep away from pets in
area assembly area

Do not use or keep
product outdoors. For
indoor use only. No
wet/humid conditions.

At least 4 adults needed

Se necesitan al menos 4
adultos No deben estar los ninos

en el area de ensamble

Mantener alejados a los
animales domesticos del
area de ensamble No usar o guardar el
producto en el exterior.
Solo para uso en interior.
No utilizar ni guardar el
producto en lugares

humedos o mojados

A ADVERTENCIA

A WARNING

El ensamblaje debe ser realizado por un adulto.
PELIGRO DE ASFIXIA - Este articulo contiene piezas
pequenas y pequenas bolas. No es apto para ninos
menores de 3 anos de edad.

Adult assembly required.
CHOKING HAZARD - This item contains small parts
and small balls. Not suitable for children under 3 years.

AC220Y19001 (Continue en la siguiente pagina.) www.medalsports.com

(Continued on the next page.)




English

IMPORTANT SAFETY INSTRUCTIONS

Read all instructions

1.

AC220Y19001

READ ALL INSTRUCTIONS-AIl the safety and operating
instructions should be read carefully before this
skeeball game is played.

CAUTION-This is not a toy and is intended for use by or
under the supervision of adults. Adults should review
safety guidelines with children to avoid possible risk of
electric shock or other injuries.

POWER SOURCES-This skeeball game should be
operated only from 110-120V D.C., 60 cycle current as
indicated on the identification label. If you are not sure
of the type of power supply to your home, consult your
appliance dealer or local power company.

POWER CORD PROTECTION-Power cord should be
routed so that it is not likely to be walked on or
pinched by items placed upon or against it.

Pay particular attention to cords at plugs, convenience
receptacles, and the point of exit from the game.

OVERLOADING-Do not overload wall outlets and
extension cords as this can result in a risk of fire or
electric shock.

. OBJECT AND LIQUID ENTRY-Never push objects of any

kind into this game through openings as they may
touch dangerous voltage points or short-out parts
which could result in a fire or electric shock.

Never spill liquid of any kind on the game.

CAUTION-ELECTRICALLY OPERATED PRODUCT-

Not recommmended for children under 8 years of age.
As with all electrical products, precautions should be
observed during handling and used to reduce the risk
of electric shock.

. We recommend that the game be periodically

examined for conditions that may result in the risk of
fire, electrical shock, or injury to persons. In the event
such conditions exist, the game should not be used
until properly repaired.

(Continued on the next page.)

. PROTECCION DEL CABLE ELECTRICO-EI

Espanol

INSTRUCCIONES DE SEGURIDAD
IMPORTANTES

Lea todas las instrucciones

. LEA TODAS LAS INSTRUCCIONES-Todas las instrucciones

de seguridad y operacion se deben leer detenidamente
antes de jugar con este juego de skeeball.

. ADVERTENCIA-Esto no es un juguete y su uso debe ser

supervisado por adultos Los adultos deberian repasar las
directrices de seguridad conlos nifos para evitar el riesgo
de posible choque eléctrico u otras heridas.

. FUENTES DE POTENCIA-Este juego de skeeball

deberia ser operado uUnicamente con corriente de
110-120V D.C,, de 60 ciclos de corriente como se indica
en la etiqueta de identificacion. Si usted no esta seguro
sobre el tipo de suministro de energia de su casa,
consulte con el distribuidor de su aparato o la empresa
de energia local.

cable
eléctrico deberia ser encaminado de modo que nadie
se pare sobre él o sea comprimido por articulos
colocados encima o contra el mismo. Preste atencion
especial a los cables en los enchufes, receptaculos
convenientes y el punto de salida del juego.

. LA SOBRECARGA-No sobrecargue las salidas de pared

y cables de extensidn ya que esto puede resultar en un
riesgo de incendio o choque eléctrico.

. ENTRADA DE OBIJETOS Y LIQUIDOS-Nunca empuje

objetos de cualquier clase dentro de este juego a
través de aperturas ya que éestos pueden entrar en
contacto con puntos de voltaje peligrosos o producer
cortos en piezas que podrian causar un incendio o
choque eléctrico. Nunca derrame cualquier clase de
liguido sobre el juego.

. ADVERTENCIA-PRODUCTO DE ACCIONAMIENTO

ELECTRICO-No recomendado para nifilos menores de
8 anos de edad. Como con todos los productos
eléctricos, se deben observer las precauciones durante
el manejo y se debenemplear para reducir el riesgo de
choque eléctrico.

. Recomendamos que el juego de vez en cuando sea

examinado para detector condiciones que podrian
resultar en el riesgo de incendio, choque eléctrico, o las
personas. Si estas condiciones existen, el juego no
deberia ser usado hasta que haya sido correctamente
reparado.

www.medalsports.com

(Continue en la siguiente pagina.)




English

IMPORTANT SAFETY INSTRUCTIONS

Espanol

INSTRUCCIONES DE SEGURIDAD
IMPORTANTES

Read all instructions

9. RISK OF FIRE, ELECTRIC SHOCK, OR INJURY TO

PERSONS WARNING -

When using electric appliances, basic precautions

should always be followed, including the following:

A) Read all the instructions before using the appliances.

B) To reduce the risk of injury, close supervision is
necessary when an appliance is used by or near

children.
C) Do not contact moving parts.

D) Only use attachment recommended or sold by the

manufacturer.
E) Do not use outdoors.

F) For a cord-connected appliance, the following shall

be included:

- To disconnect, turn all controls to the off position,

then remove the plug from the outlet.

- Do not unplug by pulling on cord. To unplug, grasp

the plug, not the cord.

- Unplug from outlet when not in use and before

servicing or cleaning.

- Do not operate any appliance with a damaged
cord or plug, or after the appliance malfunctions

or is dropped or damaged in any manner.

Return appliance to the nearest authorized service

facility for examination, repair, or electrical or
mechanical adjustment.

For Household use only.

AC220Y19001

(Continued on the next page.)

Lea todas las instrucciones

9. RIESGOS DE INCENDIO, CHOQUE ELECTRICO,

O LESIONES A LAS PERSONAS ADVERTENCIA -

Al usar aparatos eléctricos, siempre se deben seguir las

precauciones basicas, incluy-endo las siguientes:

A) Lea todas las instrucciones antes de usar los
aparatos.

B) Para reducir el riesgo de lesiones, la supervisién de
cerca es necesaria cuando el aparato esté siendo
usado por o cerca de los ifos.

C) No entre en contacto con piezas moviles.

D) Sélo use el accesorio recomendado o vendido por el
fabricante.

E) No use al aire libre.

F) Para un aparato de conexién por cable, se debe
incluir lo siguiente:

- Para desconectar, gire todos los mandos a la
posicion “off” (apagado), luego retire el enchufe de
la salida.

- No desconecte al tirar del cable. Para desconectar,
agarre el enchufe, no el cable.

- Desconecte desde la salida cuando no esté en uso
y antes de revisar o limpiar.

- No opera ningun aparato cuando el cable o
enchufe esté danado, o después del
malfuncionamiento del aparato o de que el mismo
se haya botado o danado de cualquier modo.
Revuelva el aparato a las instalaciones de servicio
autorizadas mas cercanas para examen, reparacion
0 ajuste eléctrico o mecanico.

Para Uso Domeéstico Sélo.

(Continue en la siguiente pagina.) www.medalsports.com



English

Espanol

PARTS IDENTIFIER

IDENTIFICADOR DE PIEZAS

. PART NUMBER I' FORFIG. 1] FIG NUMBER
NUMERO DE PIEZA NUMERO DE FIGC

PART
PIEZA

QUANTITY

X1 CANTIDAD

Top Rail - A Riel Superior - A
PART NAME ————————— (control Switch) | (Rteruptor NOMBRE DE PIEZA
FOR FIG. 1 FOR FIG. 1 FOR FIG. 1 FOR FIG. 2
|

LJ

X1

N

X1 X1 X1 X4

) ) . ) ) Delantal Delantal Tablero de

Top Rail - B Riel superior - B | Right Side Apron lateral dcha Left Side Apron lateral izda Support Board - A soporte - A
B FOR FIG. 4 FOR FIG. 4 E FOR FIG. 5 u FOR FIG. 8

/X

X1 X1 X1 x2

Top Rail - C Riel superior - C Top Rail - D Riel superior - D End Apron Delantal de punta|Connecting Board Tc?:rLee;?écjwe
W FOR FIG. 3 W FORFIG. 8 FOR FIG. 6 FOR FIG. 6
X1 X1 X1 X1

) Campo del Goal Box Tablero de caja Tablero de S ¢ Board - B Tablero de

Playfield juego Board de gol Ball Return Board retorno de bola upport Boar soporte - B
/ FOR FIG. 21 FOR FIG. 7 W FOR FIG. 7 FOR FIG.10
X1 X1 X2 X1

: ; ; Flej Tabl d Tabl d ’

Trim strip - Right e{edcéfeacc;l%mO sgpoeriz _ (e: Support Board - D sc?poertrg ) S Top Panel Panel superior

W FOR FIG. 11 FOR FIG. 11 FOR FIG. 11 FOR FIG. 11
] ; ; ) )

: Tablero Panel posterior . Panel posterior . Tablero de

Back Board - A trasero - A Left Back Panel izquierdo Right Back Panel derecho Support Board - E soporte - E
FOR FIG. 16 FOR FIG. 16 A FOR FIG. 18 J FOR FIG.19
X1 X2 X1 X1

B Tablero de Target Board [Tablero del blanco . Tablero

Bottom Board | Tablero del fondo |Support Board - F soporte - F with Sensor COn Sensor Back Board-B trasero - B

FOR FIG. 20 FOR FIG. 12 FOR FIG. 14 FOR FIG. 12

=

X4

X2

Isolator Aislador

Cubierta

Leg Cap de la pata

Leg Leveler

Nivelador de
pata

Pata

Right Leg derecha

AC220Y19001

(Continued on the next page.)

(Continue en la siguiente pagina.)

www.medalsports.com




English Espanol
PARTS IDENTIFIER IDENTIFICADOR DE PIEZAS
FOR FIG. 12 FOR FIG. 12 |Ep) FOR FIG. 21 | FOR FIG. 7
X2 X2 X2 X6
Pata End Leg Panel de extremo Delantales de o - o
Left Leg izquierda Pancl para Pata Apron Corner Hincon L" Bracket Corchete "L
FOR FIG. 21 FOR FIG.10 FOR FIG. 21
: 4
e AR
X1 X1 X1
. Marcador . S Fleje de adorno -
Adapter Adaptador Electronic Scorer electrénico Trim strip - Left izquierdo
ACCESSORIES ACCESORIOS
X4
Ball Bola
HARDWARE HARDWARE
FORFIG. 1, 4,5 FOR FIG. 8, 11,13 JA%§ FORFIG.1,4,5,8,11,12,13 FOR FIG. 8,11,12,13
x16 X24 X48 X32
M6 Spring Arandela de
M6x32mm Bolt | Perno Méx32mm | M6éx24mm Bolt | Perno M6x24mm M6 Washer Arandela M6 cerradura
Lock Washer de resorte M6

FOR FIG. 12

)

x8

FORFIG.2,3

O

x18

FORFIG. 6,7, 8,12

gz

X34

FOR FIG. 8,9,11,16,

>

17,18,19

X34

M6x72mm Perno 3.5x38mm Round | Tornillo de cabeza ) B
Bolt M6x72mm Head Screw redonda 3.5x38mm 4x12mm Screw | Tornillo 4x12 mm | 3.5x28mm Screw |Tornillo 3.5x28mMm
FOR FIG. 14 FOR FIG. 14 :\\A FOR FIG. 14 M FOR FIG. 21
x12 x12 x12 X14
M8x18mm Perno M8 Spring Arandela de )
Bolt M8x18mm M8 Washer Arandela M8 Lock Washer decsergggt%rﬁ/ls 3x12mm Screw | Tornillo 3x12mm
m FOR FIG. 12 M FOR FIG. 10, 20 JA\ [ m
x8 x8 X1 X1
M6 Lock Nut Tuerca de 3x22mm Screw | Tornillo 3x22mm Wrench - A Llave inglesa Wrench - B Llave inglesa
bloqueo M6 -A -B

AC220Y19001

(Continued on the next page.)

(Continue en la siguiente pagina.)

www.medalsports.com




English Espanol

HARDWARE HARDWARE

W

X1

Allen Key Llave allen

PRE-INSTALLED PARTS PIEZAS PREINSTALADAS
W FOR FIG. 10 |[>¥4 FOR FIG. 1,41 FOR FIG. 18 |14 FOR FIG. 1
oy T © “
X1 x40 X7 X1
LED LED M6 Nut Tuerca M6 Target_ Cable del sensor Control Switch Interruptor de
Sensor Wire del blanco control
BEFORE ASSEMBLY ANTES DE MONTAR
1. Find aclean, level place to begin the assembly of your 1. Encuentre un lugar limpio y nivelado para comenzar
product. el ensamblaje del producto.
2. Verify that you have all listed parts as shown on the 2. Compruebe que tenga todas las piezas que se
part list pages. If any parts are missing, call our muestran en la lista de piezas. Si falta alguna pieza,
customer service. I[lame a nuestro servicio al cliente.

AC220Y19001 (Continued on the next page.) (Continue en la siguiente pagina.) www.medalsports.com




English

ASSEMBLY

@\ X1
@/x1
® ™

O
@\ X1
g g
&)

Espanol

MONTAJE

Note: Follow the instructions in the
figure below and align as shown.

Nota: Siga las instrucciones en la
imagen a continuacién y alinee
como se muestra.

O =™
@:’mm

AC220Y19001

(Continued on the next page.)

(Continue en la siguiente pagina.) www.medalsports.com




MONTAJE

www.medalsports.com

(Continue en la siguiente pagina.)

()]

(Continued on the next page.)

ASSEMBLY

AC220Y19001




English Espanol

ASSEMBLY MONTAJE

. O g

AC220Y19001 (Continued on the next page.) 10 (Continue en la siguiente pagina.) www.medalsports.com




English

ASSEMBLY

Espanol

MONTAJE

/
|¢ X1

’/ X2
@ X6

The black side faces outward.
/ El lado negro se enfrenta hacia el exterior.

Note: Black side is facing

down.

Nota: El lado negro tiene la
cara mirando abajo.

AC220Y19001

(Continued on the next page.)

(Continue en la siguiente pagina.)

www.medalsports.com




English Espanol

ASSEMBLY MONTAJE

AC220Y19001 (Continued on the next page.) 12 (Continue en la siguiente pagina.) www.medalsports.com




English Espanol

ASSEMBLY MONTAJE

©)
g

x
=

®E|®|@
@) TR

/ x4
Qo> o

(A3 = .,

S
Q}mm
a7

Back View
[ Vista trasera

AC220Y19001 (Continued on the next page.) 13 (Continue en la siguiente pagina.) www.medalsports.com




English Espanol

ASSEMBLY MONTAJE

AC220Y19001 (Continued on the next page.) 14 (Continue en la siguiente pagina.) www.medalsports.com




w
™
g
-
Z
o
=

www.medalsports.com

o]
=
)
‘@
Q
Q
@
C
Q
o]
2
wn
Ay
<
@
o
E=Y
=
5
c
o
o

|

(Continued on the next page.)

12
x12

@ X4
o
AC220Y19001

ASSEMBLY




English Espanol

ASSEMBLY MONTAJE

Note: Legs should angle out.

Nota: El angulo de las patas debe abrir hacia fuera.

HOLD BY THE CABINET DO NOT HOLD THE TABLE DO NOT LEAN THE

TABLETOP / GABINETE BY THE LEGS TABLE ON ITS LEGS

/ SOSTENER DE / NO SOSTENER LA MESA / NO INCLINAR LA MESA

LA SUPERFICIE POR LAS PATAS SOBRE LAS PATAS

DE LA MESA

\ | —. L J § 2
A CAUTION A PRECAUCION
Four strong adults are recommended to turn over the Se recomienda la participacion de cuatro adultos
table as shown. para invertir la mesa como se muestra.
1. Lift the table off the ground. 1. Levante la tabla del suelo.
2. Turn the table over. 2. Voltee la mesa.
3. Place it on all feet at the same time on the ground. 3. Coloque las patas de la mesa sobre el piso al
mismo tiempo.

FIG.16__4
(@) <7

@ 2 Nota: El lado negro EVA tiene la

cara mirando arriba.
]j X4

X1 Note: Black EVA side facing up.

AC220Y19001 (Continued on the next page.) 16 (Continue en la siguiente pagina.) www.medalsports.com




English

ASSEMBLY

1' I ! I ,; & ) \ . ) S \
1 ' ‘r7777 :
‘ 1

\ ' S

AY ) |

\\ I, | Viiiiiiiiiiiiiiiiiiﬂv‘

SIDE VIEW 4
/VUE LATERALE







English Espanol

ASSEMBLY MONTAJE

Note: Connect Target Board with
Sensor (24) and Control Switch (P4).

Nota: Conectar tablero del blanco
con sensor (24) y Interruptor de

control (P4).

AC220Y19001 (Continued on the next page.) 19 (Continue en la siguiente pagina.) www.medalsports.com







English Espanol

ASSEMBLY MONTAJE

ELECTRONIC CONNECTIONS DIAGRAM DIAGRAMA DE CONEXION ELECTRONICA

AC220Y19001 (Continued on the next page.) 21 (Continue en la siguiente pagina.) www.medalsports.com




English

HOW TO PLAY

Espanol

MANERAS DE JUGAR

Insert the power plug.

Press “ ()" to activate the scorer. Press and hold the “ () ~
button for 3 seconds to switch off the machine.

The screen will show “1P 1P"; press the “\}” button to switch
between single-player and double-player mode. During use,
you can Press “ P> ” to turn off the sound or turn on the
sound.

Single-player mode:

Press the “ p” button and the score screen will show “000
000" to start the single-player mode.

For each round, the scores will be counted 9 times. After
9 score counts (where the player has cast the ball 9
times), the game for Player is over and the final score is
shown the left side of the player.

Press the “ P> ” button to start another single-player game
or press the “ \v ” button to select other game modes.

Double-player mode:

Press the “ P>" button and the score screen will show “000
000" to start the double-player mode. The score screen
will show “000 000" to start the game for Player 1.

After 9 score counts (where the player has cast the ball 9
times), the game for Player 1 is over and the final score is
shown the left side of the player.

After the game sound has finished, Player 2 can start the
game.

After 9 score counts (where the player has cast the ball 9
times), the game for Player 2 is over and the final score is
shown the right side of the player.

Scores comparison display:

PLAY1>PLAY2, the sound of Player 1 winning will occur.
PLAY2>PLAYT, the sound of Player 2 winning will occur.
PLAY1=PLAY2, the sound of a tied game will occur.

After the game sound has finished you can press the “ P~

button to restart the game or press the “ V ” button to
choose other games.

AC220Y19001

(Continued on the next page.)

Inserte el enchufe de alimentacion.
Presione “ O " para activar el anotador. Mantenga presionado
el M- por 3 segundos para apagar la maquina.

La pantalla mostrara “1P 1P"; presione el botén * \y " para
intercambiar entre el modo de un jugador y el de dos
jugadores. Durante el uso, puede presionar “ P " para
apagar o encender el sonido.

Modo de un jugador:
Aprete el © P " botén comienzo y la pantalla de puntos
mostrara “000 000" para iniciar el modo de un jugador.

Para cada ronda, los puntajes se contaran 9 veces.
Después de 9 conteos de puntaje (donde el jugador ha
lanzado la bola 9 veces), el juego para este jugador ha
terminado y el puntaje final se muestra a la izquierda del
jugador.

Aprete el © P "botdn comienzo para iniciar otro juego de
un jugador o aprete el * \v/ " botén seleccionar para
seleccionar otros modos de juego.

Modo de doble jugador:

Aprete el © P "botdn comienzo y la pantalla de puntos
mostrara “000 000" para iniciar el modo de doble jugador.
La pantalla de puntaje mostrara “000 O0Q" para iniciar el
juego para Jugador 1.

Después de 9 conteos de puntaje (donde el jugador ha
lanzado la bola 9 veces), el juego para este jugador 1 ha
terminado y el puntaje final se muestra a la izquierda del
jugador.

Luego de que el sonido del juego termine, el Tocador 2
puede iniciar el juego.

Después de 9 conteos de puntaje (donde el jugador ha
lanzado la bola 9 veces), el juego para este jugador 2 ha
terminado y el puntaje final se muestra al lado derecho
del jugador.

Exposiciéon de comparacion de puntos:

PLAY1>PLAY2, producira el sonido del ganador de Jugador 1.
PLAY2>PLAY1, producira el sonido del ganador de Jugador 2.
PLAY1=PLAY2, producird el sonido del partido empatado.

Luego de terminar el sonido del juego, Ud. puede
presionar la “ P " botén Inicio para reiniciar el juego 6
presionar la “ \} " botdn de seleccién para otros juegos.

22 (Continue en la siguiente pagina.) www.medalsports.com




English

HOW TO PLAY

Espanol

MANERAS DE JUGAR

After booting or after the game is over, if there is no
operation within 5 minutes, it will automatically shut
down. Please unplug the power when it is not in use.

(Note: during the game, you can press the “ \v " button to
immediately return to the function selection mode and
reselect the game mode).

Score rules:
The player gets 10 points for the ball entering the 10-point
hole.

The player gets 20 points for the ball entering the
20-point hole.

The player gets 30 points for the ball entering the 30-point
hole.

The player gets 40 points for the ball entering the
40-point hole.

The player gets 50 points for the ball entering the
50-point hole.

The player gets 100 points for the ball entering the
100-point hole.

Caution: Do not “Throw” the ball at the target board as
damage may occur. Correct and safe operation is to
always “roll” the ball along the runway.

AC220Y19001

(Continued on the next page.)

23

Si después de iniciar o una vez finalizado el juego, no se
realiza ninguna operacién en 5 minutos, el juego se
apagara automaticamente. Desconecte la alimentacién
cuando no esté en uso.

(Nota: durante el juego, ud. puede apretar el * V " botén
seleccionar para regresar enseguida a la funcion de modo
de seleccion y reseleccion del modo de juego).

Regla de puntuacién:
El jugador obtenga 10 puntos por entrando la
agujero de 10 puntos.

bola al

El jugador obtenga 20 puntos por entrando la bola al

agujero de 20 puntos.

El jugador obtenga 30 puntos por entrando la bola al

agujero de 30 puntos.

El jugador obtenga 40 puntos por entrando la bola al

agujero de 40 puntos.

El jugador obtenga 50 puntos por entrando la bola al
agujero de 50 puntos.

El jugador obtenga 100 puntos por entrando la

bola al agujero de 100 puntos.

Precaucidén: No “Lanzar” la pelota en el tablero de blanco
gue se podria danar. El funcionamiento correcto y seguro
es siempre en ‘rollo” la pelota en el camino de ejecucion.

(Continue en la siguiente pagina.) www.medalsports.com




English

DISCLAIMER

A WARNING

Changes or modifications not expressly approved by the
party responsible for compliance could void the user's
authority to operate the equipment.

NOTE

This equipment has been tested and found to comply
with the limits for a Class B digital device, pursuant to
Part 15 of the FCC Rules. These limits are designed to
provide reasonable protection against harmful
interference in a residential installation. This equipment
generates, uses and can radiate radio frequency energy
and, if not installed and used in accordance with the
instructions, may cause harmful interference to radio
communications. However, there is no guarantee that
interference will not occur in a particular installation. If
this equipment does cause harmful interference to
radio or television reception, which can be determined
by turning the equipment off and on, the user is
encouraged to try to correct the interference by one or
more of the following measures:
« Reorient or relocate the receiving antenna.
« Increase the separation between the equipment and
receiver.
« Connect the equipment into an outlet on a circuit
different from that to which the receiver is connected.
« Consult the dealer or an experienced radio/TV
technician for help.
This device complies with the Part 15 of the FCC Rules.
Operation is subject to the following two conditions:
(1) This device may not cause harmful interference; and
(2) This device must accept any interference received,
including interference that may cause undesired operation.

For additional resources, please contact Medal Sports Corp.
1300 Melissa Drive, Suite 124, Bentonville, AR 72712
Toll Free: 877-472-4296

Espanol
CLAUSULA DE EXENCION
DE RESPONSABILIDAD

A ADVERTENCIA

Los cambios o modificaciones no expresamente aprobado
por la parte responsable del cumplimiento podrian anular
la autoridad del usuario para operar el equipo.

NOTA

Este equipo ha sido probado y encontrado para cumplir
con los limites para el dispositivo digital de Clase B, de
conformidad con la Parte 15 de las Reglas de FCC. Estos
limites son disenados para proporcionar proteccion
razonable contra la interferencia danosa en una
instalacion residencial. Este equipo genera, usa y podria
irradiar la energia de radiofrecuencia y, si no fuera
instalado y usado conforme con las instrucciones,
podria  causar interferencia danosa para la
comunicacién de radio. Sin embargo, no esta
garantizado que la interferencia no ocurrird en una
instalacion particular. Si este equipo realmente causado
interferencia dafosa a la radio o la recepcion de
television, podria ser determinada por girando el
equipo off y on, el usuario esta animado de corregir la
interferencia por una o mas siguientes medidas:

« Reoriente o recoloque la antena de recepcién.

« Incremente la separaciéon entre el equipo y el receptor.

« Conecte el equipo a una salida del circuito diferente

que el que esta conectado con el receptor.
« Consulte el proveedor o un técnico experienciado de
radio/television por ayudas

Este dispositivo cumple con la parte 15 de las reglas de FCC.
La operacion estd sujeta a las dos condiciones siguientes:
(1) Este dispositivo no podria causar interferencia
danosa; y (2) Este dispositivo debe aceptar cualquier
interferencia recibida, incluyendo la interferencia que
podria causar operacion indeseada.

Para recursos adicionales, por favor comuniquese con
Medal Sports Corp.

1300 Melissa Drive, Suite 124, Bentonville, AR 72712
Llamada gratuita: 877-472-4296

AC220Y19001

(The last page)

(La ultima pagina) www.medalsports.com



'B MD SPOIRTS.

www.medalsports.com



